

INVERSE PROPERTY OF INDEFINITE INTEGRALS

$$\left[\int f(x) dx \right]' = f(x)$$

$$\int f'(x) dx = f(x) + C$$

ANTIDERIVATIVE FORMULAS

$$\int 0 dx = C$$

$$\int x^p dx = \frac{x^{p+1}}{p+1} + C, \quad p \neq -1$$

$$\int \frac{1}{x} dx = \ln |x| + C, \quad x \neq 0$$

$$\int a^x dx = \frac{a^x}{\ln a} + C, \quad \int e^x dx = e^x + C$$

$$\int \sin x dx = -\cos x + C, \quad \int \cos x dx = \sin x + C$$

$$\int \frac{1}{\cos^2 x} dx = \tan x + C, \quad x \neq \frac{\pi}{2} + k\pi$$

$$\int \frac{1}{\sin^2 x} dx = -\cot x + C, \quad x \neq k\pi$$

$$\int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x + C = -\arccos x + C, \quad x \in (-1, 1)$$

$$\int \frac{1}{1+x^2} dx = \arctan x + C = -\operatorname{arccot} x + C$$

ANTIDERIVATIVE LINEARITY RULES

Sum Rule: $\int (f(x) + g(x)) dx = \int f(x) dx + \int g(x) dx$

Difference Rule: $\int (f(x) - g(x)) dx = \int f(x) dx - \int g(x) dx$

Constant Multiple Rule: $\int (a \cdot f(x)) dx = a \cdot \int f(x) dx$, where $a \in \mathbf{R}$.

ANTIDERIVATIVE FORMULAS FOR FUNCTIONS AND THEIR DERIVATIVES

$$\int (f(x))^n \cdot f'(x) dx = \frac{(f(x))^{n+1}}{n+1} + C$$

$$\int \frac{f'(x)}{f(x)} dx = \ln |f(x)| + C$$

$$\int \frac{f'(x)}{(f(x))^2} dx = \frac{1}{f(x)} + C$$

$$\int e^{f(x)} \cdot f'(x) dx = e^{f(x)} + C$$

$$\int \frac{f'(x)}{\sqrt{f(x)}} dx = 2\sqrt{f(x)} + C$$

INTEGRATION BY PARTS

If u and v have continuous derivatives, then

$$\int f(x)g'(x) dx = f(x)g(x) - \int f'(x)g(x) dx.$$

INTEGRATION BY SUBSTITUTION

If $u = g(x)$ is a differentiable function whose range is an interval A and f is continuous in A , then

$$\int f(x) dx = \int f(g(t))g'(t) dt = F(g(t)) + C.$$

INTEGRALS OF THE FORM: $\int \frac{dx}{ax^2+bx+c}$, $\Delta < 0$

$$\int \frac{dx}{ax^2+bx+c} = \frac{2}{\sqrt{4ac-b^2}} \cdot \arctan\left(\frac{2ax+b}{\sqrt{4ac-b^2}}\right)$$

INTEGRATION BY PARTIAL FRACTIONS

$$\begin{aligned} \int \frac{A dx}{(x+a)} &= A \cdot \ln|x+a| + C, \quad A, C \in \mathbf{R} \\ \int \frac{A dx}{(x+a)^n} &= \frac{-A}{(n-1)(x+a)^{n-1}} + C, \quad A, C \in \mathbf{R}, \quad n \geq 2 \\ \int \frac{dx}{(1+x^2)^n} &= \frac{x}{2(n-2)(1+x^2)^{n-1}} + \frac{2n-3}{2(n-1)} \int \frac{dx}{(1+x^2)^{n-1}}, \quad n \geq 2 \end{aligned}$$

HYPERBOLIC FUNCTIONS AND THEIR PROPERTIES

$$\operatorname{sh}(x) = \frac{e^x - e^{-x}}{2} \qquad \operatorname{ch}(x) = \frac{e^x + e^{-x}}{2}$$

$$\operatorname{sh}'(x) = \operatorname{ch}(x)$$

$$\operatorname{ch}'(x) = \operatorname{sh}(x)$$

$$1 = \operatorname{ch}^2(x) - \operatorname{sh}^2(x)$$

$$e^x = \operatorname{sh}(x) + \operatorname{ch}(x)$$

$$x = \ln(\operatorname{sh}(x) + \operatorname{ch}(x))$$

$$\int \operatorname{sh}^2(x) dx = \frac{\operatorname{sh}(x)\operatorname{ch}(x) - x}{2} + C$$

$$\int \operatorname{ch}^2(x) dx = \frac{\operatorname{sh}(x)\operatorname{ch}(x) + x}{2} + C$$

INTEGRATION OF ALGEBRAIC FUNCTIONS

Type 1. If the function contains $\sqrt{x^2 - a^2}$, then:

$$x = a \cdot \operatorname{ch}(t)$$

$$dx = a \cdot \operatorname{sh}(t) dt$$

$$\sqrt{x^2 - a^2} = a \cdot \operatorname{sh}(t)$$

Type 2. If the function contains $\sqrt{x^2 + a^2}$, then:

$$x = a \cdot \operatorname{sh}(t)$$

$$dx = a \cdot \operatorname{ch}(t) dt$$

$$\sqrt{x^2 + a^2} = a \cdot \operatorname{ch}(t)$$

INTEGRATION OF TRIGONOMETRIC FUNCTIONS

$$\begin{aligned}\sin \alpha \sin \beta &= \frac{1}{2}(\cos(\alpha - \beta) - \cos(\alpha + \beta)) \\ \cos \alpha \cos \beta &= \frac{1}{2}(\cos(\alpha - \beta) + \cos(\alpha + \beta)) \\ \sin \alpha \cos \beta &= \frac{1}{2}(\sin(\alpha - \beta) + \sin(\alpha + \beta))\end{aligned}$$

If a function is made up of trigonometric functions but is not similar to above formulas, then we need to use substitution:

$$\begin{aligned}t &= \tan \frac{x}{2} \\ x &= 2 \arctan t \\ dx &= \frac{2dt}{1+t^2} \\ \sin x &= \frac{2t}{1+t^2} \\ \cos x &= \frac{1-t^2}{1+t^2}\end{aligned}$$

DEFINITE INTEGRALS

- $\int_a^b f(x)dx = F(b) - F(a)$,
- area $\int_a^b f(x)dx$,
- volume $\pi \int_a^b (f(x))^2 dx$,
- side-surface $2\pi \int_a^b |f(x)|\sqrt{1 + (f'(x))^2} dx$,
- complete surface $2\pi \int_a^b |f(x)|\sqrt{1 + (f'(x))^2} dx + \pi f^2(a) + \pi f^2(b)$,
- length of the curve $\int_a^b \sqrt{1 + (f'(x))^2} dx$.